Lab 5: Correlation & Regression
1. Open the CFSKIDS.SAV file that you modified and saved in a previous lab. Enter missing values for height, weight and the skinfold and girth measurements, where missing values have not yet been assigned.

2. Select only individuals aged 8 to 18 years inclusively for future analysis. 

3. Create a new variable called AGEGRP where 1 = < 11 years of age, 2 = 11 to 15 years of age and 3 = > 15 years of age. Assign a variable label to AGEGRP.

4. Create correlation matrices for age, weight, height, and the skinfold measurements for the 8 to 18 year olds, split by SEX and AGEGRP (exclude cases pairwise). Look at the significance of the correlation coefficients in relation to the sample sizes. Note the differing sample sizes due to different missing values. Re-run, this time using exclude cases listwise and note that the sample size is the same for each cell.

5. Run linear regression to produce SEX- and AGEGRP-specific formulae to predict Weight (dependent variable) from any of height and the skinfold variables. Use stepwise regression, to see which variables get selected. 

6. Rerun the analysis, allowing all of the girth variables to be included in the independent variable selection list.  How are the standard errors of estimate (S.E.E.) affected by the inclusion of the girths?

WEIGHT (KG) = 0.48 * HEIGHT (CM) + 0.15 * S5SF (MM) - 39.5
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